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QUESTION BOOKLET
This question paper contains 170 questions. / 38 YU § 170 I3 2 |

All questions are compulsory. / ft 337 31f4a/ & |
One question carries half mark only. / T I4 o T Shaet 3me 37k 2 |

Maximum Marks : 85 JATThad 37 : 85
Time : 2 Hours g : 2 g0
1.  Which was the principal item of food of the people in Indus Valley ?

(A) Wheat (B) Barley (C) Rice (D) None of these

ey =Tt <6 AT b1 S0 & ShIF |1 T WIS o1 2

(A) T (B) s (C) = (D) T & 15 T

2.  The Rig Veda contains
(A) hymns in honour of the gods.  (B) yajnas to be performed.
(C) rituals to be adopted by the people. (D) history of the Vedic period.
FTolg H guTfed

(A) I T | IeATh ok
(B) feru < at am [el2?
(C) <N o g 31T T aTed efifen famst
(D) dfce a0 =1 3fog™
3.  Bimbisara belonged to which dynasty ?
(A) Anga (B) Girivraja (C) Haryanka (D) Mauryan
org a9 & Teafrag & 2
(A) 3 (B) fife (C) &% (D) =&

4.  The 23" Tirthankara was
(A) Rishabhadeva(B) Sadharman (C) Parshva (D) Mahavira
234 et 9

(A) =T (B) wuwH (C) e (D) e
5.  The second capital of Chandragupta II was
(A) Magadha  (B) Kannauyj (C) Ujjain (D) None of these
I 11 bl gl TSt et
(A) 7Y (B) NI (C) 3I=H (D) T8 9 hIg T&
6. Kadambari was written by
(A) Kalidasa (B) Banbhatta (C) Panini (D) Patanjali

ehTeFR ferteh gR Toram Tam o ?

(A) i (B) SMUT9E (C) T (D) Ydsitea
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7.  The founder of the Sena dynasty was

(A) Vinanyasena (B) Vijayasena
(C) Lakshmanasena (D) None of these
T 97 T FEATTH o1

(A) fom=rEm (B) feaemam (C) @gu@a (D) S8 O IS &l

8. The first Muslim invader of India was

(A) Muhammad Ghori (B) Chengiz Khan
(C) Mahmud of Ghazni (D) Muhammad-bin-Qasim
HId bl YAl l:l)l('k\('l'-l gHATIL AT
(A) e Ty (B) =St @
(C) &g TSI (D) Heg- o<1y
9.  ‘Nauroz’ was introduced by
(A) Balban (B) Iltutmish
(C) Alauddin Khalji (D) Muhammad-bin-Tughlaq
TR vt femam T o
(A) SH g (B) Soqdiuw g
(C) IATREH GTsil g (D) Herg-ToA-ge
10. With whom did Akbar fight the second battle of Panipat ?
(A) Ibrahim Lodhi (B) Ahmad Shah Abdali
(C) Hemu (D) None of these
3T F U 1 Tl g forea et om 2
(A) giTieH el (B) 375Hg ITE JAeqTeAl
©) & (D) T & HE T
11.  'Who was the last apostle of the Sikhs ?
(A) Guru Nanak (B) Guru Gobind Singh
(C) Guru Arjan Dev (D) Guru Teg Bahadur
e o 3Af~m =R 9

(A) T&AHH (B) & fe fig (C) TR I™AI@ (D) T A TR

12. Shivaji’s capital was

A) Poona (B) Raigarh (C) Panhala (D) None of these
CARIERICIR]] ’
(A) T (B) TG (C) = (D) ¥ & S Tal
13.  Who was the first Governor General of India ?
(A) Warren Hastings (B) William Bentinck
(C) Canning (D) None of these

HI bl YAl ‘I°T"H ST AT

(A) aidgfem  (B) fafermafis (C) Ffm (D) 394 T Hig &l
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14.

15.

16.

17.

18.

19.

20.

When was the Ramakrishna Mission established ?

TSRS THrer shi TTOHT el 55 ot 2

(A) 1867 (B) 1887 (C) 1892 (D) 1897
The Arya Samaj movement was started by

(A) Swami Dayanand (B) Swami Vivekanand

(C) Raja Rammohan Roy (D) Keshab Chandra Sen
3T} TSt TGIe o IR fehe femamm o

(A) W@ I (B) T faaemr<

(C) TSI THEES T (D) h3EE B

When did the first Indian National Congress meet in Bombay ?

TreTs o Ugell YR T hilE <l 93k e g8 ot ?

(A) 1885 (B) 1890 (C) 1895 (D) 1905
The first Indian Civil Servant was -
(A) S.N. Banerjee (B) C.R.Das =

(C) K.M. Munshi (D) J.L. Nehru

g W Tofaet Tees (ICS) o

(A) TEE. s (B) #H.aR. g™ (C) .. gt (D) IA.TA. 986

Where did Gandhiji win his first battle of Civil Disobedience in India ?
(A) Nagpur (B) Ahmedabad (C) Bombay (D) Champaran
A § Gl 37937 bl 311 oW weTs Tiefish 3 shal St eft 2

(A) TR (B) 3JEHeETE  (C) i (D) =FIRT

Who spoke the words “Swaraj is my birthright and I shall have it” ?

(A) Aurobindo Ghosh (B) B.C. Pal

(C) Bal Gangadhar Tilak (D) Mahatma Gandhi

‘TS T STHIG SR g 3T H 30 TRt T Tohe hat o1 ?

(A) 3l = (B) .t ure

(C) o1 TMeR faeteh (D) TgreAT Teft

Who was the first Deputy Prime Minister of India ?

(A) Maulana Azad (B) Vallabhbhai Patel

(C) Acharya Kripalani (D) Krishna Menon

YT o TUH IT-JLHHA i 9 2

(A) TIAHT TS (B) oAV U

(C) = HaaAT (D) ST HH
e S s
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21. Which are called as the ‘Primary Rocks’ ?

(A) Igneous rocks (B) Sedimentary rocks
(C) Metamorphic rocks (D) Both (B) and (C)
0 W i T ITAfires TgM el S @ 2 .
(A) I wEGH (B) 3rerEel =g
(C) hrTaid =gH (D) <M (B) 3R (C)
22. Richter scale is used for measuring
(A) Density of liquid (B) Depth of mines
(C) Intensity of an earthquake (D) None of these
Thet < ITART AT A9 o foru fepam ST @ 7
(A) 3@ 1T (B) @Ml & TETE
(C) ohrd i s (D) T ¥ IS &
23. Siachen glacier lies in
(A) Ladakh Range (B) Karakoram Range
(C) Sulaiman Range (D) Hindukush Range
foafem femre feva B
(A) TEME @l H (B) HRIhRA @ H
(C) Yo S@er | (D) To<Hw J@en §

24. The lowest layer of atmosphere is
(A) Troposphere (B) Stratosphere (C) Ionosphere (D) Mesosphere

AIAVSH 1 G a0 T 8
(A) aAvmsd (B) @WaMHed (C) IR TedA (D) HeIHsd

25. Cirrus clouds are generally found at the height of
(A) 6- 12 km (B) 10-20km  (C) 30-40km (D) None of these
qTTId: forg =TS 9T veny HY U Sd 8 7

(A) 6-12Tw . (B) 10-20fHt. (C) 30-40 f%.. (D) 70 @ IS &

26. The ocean which has the greatest depth is the

(A) Indian Ocean (B) Pacific Ocean

(C) Atlantic Ocean (D) Arctic Ocean

I TSR fSeeh! TeUs 9ed AfYe 7

(A) &< HemmR (B) WSI=f WETEWR

(C) 3TCATIEH TEHNR (D) 3ATeh{eeh RN
27. High tides are also called

(A) Neaptides (B) Springtides (C) Ebbs (D) None of these

I SAR-HTET %I g Wi el 1l &

(A) TG (B) FEq=R - (C) W (D) T 8 IS Tel
TN T oA A oA o e
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28.

29.

30.

31.

32.

33.

34.

3S.

The plants which prepare their own food are called
(A) Heterotrophs (B) Autotrophs (C) Saprophytes (D) Parasites
ITEY ST 39T WIS &3 §HT1d &, HEald & :

(A) BgwE  (B) lag®  (C) dYwEE (D) TuHisgE

Ozone depletion is mainly caused by

(A) Carbon dioxide (B) Chlorofluorocarbons
(C) Carbon monoxide (D) None of these
CIEIE} &f1OTCiT b1 7 T H
(A) chleH SI$<HI°I'HI$S (B) FARTFIHAITSH
(C) T THITETES (D) 394 8 HI T
Which continent has the largest population ?
(A) Europe (B) Asia CIkiD]
(C) North America ’ (D) Africa .
fope TETeY A e 3t S B 7
(A) I (B) ufmn (C) 3Tl 3T (D) 3Thieh
Quinine is extracted from the bark of which tree ?
(A) Camphor (B) Cinchona (C) Balata (D) None of these
forg Ug it BT A H Frsspfia i Sredt 8 2 ’
(A) R (B) foeprAT (C) ST (D) 8 U HIs T&l
Which country is known as the Sugar Bowl of the World ?
(A) India (B) China (C) Cuba (D) US.A.
a1 ¢ “ferva =61 =i T SR AT T ST AT R 2
(A) WG B) (C) T (D) Z.THT,

In monsoon regions, the maximum rains occur in

(A) Summers (B) Winters (C) Autumn (D) Spring
HHET &7 |, 31ferehad aui gl 8

(A) A Egd  (B) Wawgd (C) WawIA (D) FwAHGH

The capital of New Zealand is

(A) Melbourne (B) Rome (C) Paris (D) Wellington
1 TSI ’
(A) He=H (B) 1™ (C) uiE (D) SfeTTed
At the northern most point of India, the rays of the sun are always
(A) vertical (B) obhque (C) direct (D) None of these
WRA o o I forrg T8 G <hi TeRT0l GHIM BId &
(A) HEaTeT (B) fawh (©€) ﬁ%ﬁ (D) T 9 i T
e e e e
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36. The Queen of Himalayas is
(A) Dhaulagiri (B) Kanchenjunga
(C) Nanda Devi (D) K-2
Tewera <1 T+t &
(A) e (B) wedsm  (C) =1 (D) -2
37. Which river empties itself into the Arabian Sea ?
(A) Narmada  (B) Mahanadi (C) Krishna (D) Cauvery
3G GER Y o & 7 i 2 2
(A) a1 (B) WEMS (C) Fom (D) e
38. Which soil is most fertile ?
(A) Blacksoil (B) Red soil (C) Laterite soil (D) Alluvial soil
e 3 IUTS et 8
(A) Freftfagt  (B) ww@fadt  (O) demefEd (D) e fad
39. Diamond mines in India are located in
(A) Rajasthan (B) Madhya Pradesh
(C) Bihar ' (D) Tamil Nadu
YT H §1 @aH el fa @ ?
(A) TSEAH (B) A=W  (C) fwEw (D) afieTg
40. The leading producer of coffee in India is
(A) Kerala (B) Tamil Nadu (C) Karnataka (D) Assam
YT | Shith! IcaTeH | 370 T 8
(A) A (B) dfbeHTg (C) e (D) 3™
41. Which is not a feature of Indian Constitution ?
(A) Federal Government
(B) Presidential form of Government
(C) Independence of Judiciary
(D) Parliamentary form of Government
STH § I Hl WA Fferer shi Teh fersiera i @ 2
(A) T TR (B) HThR &1 AT &Y
(C) T&ad ~ATicTeh] (D) TIHR T GUET W&
42. Universal Adult Franchise shows that India is a country which is
(A) Secular (B) Socialist (C) Democratic (D) Sovereign
Tk Sk HATTHehR Jef¥id hidT & foh d Teh T|n o 8 S
(A) Ti-fRUe g | (B) ®WHNERIZ | (C) SSdi=eh 2 | (D) T9YE |
TN T Coe oA e A g T e e
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43.

44.

45.

46.

47.

48.

49.

The item ‘Education’ belongs to the

(A) Union list (B) State list
(C) Concurrent list (D) Residuary subjects
Tore fower wafa 2

(A) a9 FHE  (B) THFET (C) THadi gt @ (D) Imafme fawaa

Who admits a new state to the Union of India ?

(A) President (B) Supreme Court

(C) Prime Minister (D) Parliament

WA 69 H Teh 13 TS ] Wi hiF <al & 2

(A) Tgafa (B) @ai= =R (C) Jamws (D) @wg

Fundamental Duties are included in the Indian Constitution by which
amendment ?

(A) 42~ (B) 44 (C) 52nd (D) 734

IR afaa o form aene o gry mferes sheeal =l wfhet fohan T g 2

(A) 42at (B) 44at (C) 52at (D) 73at

President of India can forward his resignation to whom ?

(A) Chief Justice of India (B) Prime Minister

(C) Speaker of Lok Sabha (D) Vice-President

A o TP 31T ST {<h8 € Tehd & ?

(A) YRA o Y& =ARATEAT hi (B) T I

(C) AT 31e9eT i (D) 39U-Tgufd ! ONi
Of

Who chairs the meeting of Council of Ministers ?

(A) Prime Minister (B) President

(C) Cabinet Secretary (D) Speaker of Lok Sabha

1 Tig ol iaeh shT W i BT @ 2

(A) T (B) Tgufd

(C) hfsme afua (D) THENT LT

Who is the chairman of the Rajya Sabha ?

(A) President of India (B) Prime Minister of India

(C) Vice-President of India (D) Speaker of Lok Sabha

TSIHHT T HHTITT hIF & 2

(A) YR = TgUfd (B) YR o T

(C) YR o 34-Tgafd (D) TAIhET 3TeTe

Indian Parliament is
(A) Unicameral (B) Bicameral (C) Tricameral (D) None of these

I 696 8

W wwEedt @) Rweft (© FBweh 0) AR
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50. The Chief Minister is appointed by

(A) Governor (B) President
(C) Chief Justice of India (D) None of these
T <6 Frgfed 2t 2
(A) TSI gRI (B) Trgufd g
(C) YRA o T =TT gra (D) 8 9 His A&l
51. Which two states have a common High Court ?
(A) H.P.and U.P. (B) Gujarat & Maharashtra
(C) Kerala & Tamil Nadu (D) Haryana & Punjab
[EZEARER ARGt DicE: RO DI DA
(A) &, w3y (B) TSI 3R HEWIE
(C) et 3TN afderTg (D) i 3R gee
52. In India, how many times has the President declared financial emergency ?
(A) Never (B) Twotimes (C) Threetimes (D) Once

Ra ¥, fepat I Tyt 3 3mfifer 3TdTdehter sl Syom <6 2
(A) =T (B) @ER (C) e’ (D) THER

53. Who was in favour of a democracy without parties ?
(A) J.P.Narayan (B) B.N.Dutta (C) M.N.Roy (D) J.L.Nehru
TS g1 o USTTa= o U H i o1 2

(A) Sd.IEEer (B) dHlwd.gd (C) WW. T (D) .U A8%

54. Disinvestment in public sector is called

(A) Liberalization (B) Globalization
(C) Industrialization (D) Privatization
TTeS(eh &3 H fafosfiehtor e &

(A) IO (B) Qi (C) 3tarfieor (D) fasfieRto

55. Taxation is a tool of
(A) Monetar[y policy (B) Fiscal policy
(C) Price polic (D) Wage policy

HAYH Th wﬂ
(A) Tifees Hif = (B) TthsH ifd =1
(C) hrma i =1 (D) ocH Hifa &
56. Blue Revolution is related to
(A) Fish production (B) Fertilizer production
(C) Milk production (D) Oilseed production
et shifed Trafra 2
(A) TS ST | (B) &k 3G |
©) Qﬂ?cﬁﬂa:r@ (D) faoted saeT o
TN T G T A S g
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57.

58.

59.

60.

61.

62.

Insider trading is related to

(A) Trade sector (B) Share market
(C) Credit market (D) Horse racing
JTaReh SR F=f2rd 8

(A) FMREAH (B) IWTERI (C) A@ITERE (D) HSge &

Globalization means

(A) Integration of the domestic economy with the world economy.
(B) Integration of the various sectors of economy.

(C) Integration of financial market.

(D) None of these

JeeTehTuT 1 37 7

(A) WL i 1 fe arei & wie

(B) 31 o Tafirer &5 <1 Tehiehaom Bl

(C) ferciar SITeT b1 wehiehtur -

(D) 3 ¥ IS TE

Indian Economy is a/an
(A) Mixed economy (B) Independent economy
(C) Capitalist economy (D) Communist economy

AT AT & Th
(A) fafta srefaa (B) w@a= 3rdad (C) dSiiand) 31efaa (D)  Emeare 31

National Income is the

(A) Net National Product at market price

(B) Net National Product at factor cost

(C) Net Domestic Product at factor cost

(D) None of these

TP 31 R

(A) SR $Hd W I[g TP IdTg (B) ET9 AT W g TFH 341G
(C) T AT W I[G Te] 3G (D) 34 ¥ hIg Tl

The universal law of gravitation is attributed to

(A) Galileo (B) Kepler (C) Newton (D) Einstein
I Trrem wiicaiea fopa

(A) Tefiferrs (B) FwrA (C) =geH (D) IS

The energy possessed by a body by virtue of its motion is
(A) Potential energy (B) Kinetic energy
(C) Electrical energy (D) None of these

foreft Tremmar g 3eh TId o 707 g T St B

(A) ferf et (B) nfassst () Sgfas oot (D) 98 & &g Tal
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63. The transfer of heat by the physical movement of matter is called
(A) Conduction (B) Convection (C) Radiation (D) None of these
uerel <t witfereh Tl o GIT SHSHT T TATTI0T ShgetTdl &

(A) =T (B) He&H (C) ferfertor (D) T4 | I3 T8l

64. The audible range for human ear is

(A) 20 Hzto 200 Hz (B) 20 Hzto 2000 Hz
(C) 20 Hzto 20,000 Hz (D) None of these
HIE U1 <hl S0 T ¢
(A) 208T A 200 g (B) 20 &S ¥ 2000 g
(C) 2077 T 20,000 & (D) T8 O His A&l
65. Bats can fly in the dark because of
(A) Partial displacement of air (B) Anti-gravitational pull
(C) Ultrasonics (D) Clipped wings
TGS AR T I Hohdll &
(A) Y b AT A s rRor (B)  Ifd e Re=ma o &R
(C) 3TN o BT (D) faeTqg J@i R
66. Which mirror is used as a shaving mirror ?
(A) Concave mirror (B) Plane mirror
(C) Convex mirror (D) None of these
¢! S o ToTu ferm gHoT 361 3T 21T 2 2
(A) 3Jredet gl T (B) T €U I
(C) 3eiel edul s (D) T 8 S A&l

67. In an electric bulb the filament is made of
(A) Aluminium (B) Gypsum (C) Nichrome (D) Tungsten
ferga siew o RbeTrie o1 8T @
(A) TgUtEE®I(B) Nwms () TEkmE (D) IR B

68. Hydrogen Bomb is based on

(A) Nuclear fission (B) Nuclear fusion
(C) Chemical reaction (D) None of these
HESEE LRI PIEGE
(A) TR ferguea (B) TR Gera W
(C) TEmEfe Afufsran @ (D) T & IS &
D
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69.

70.

71.

72.

73.

74.

7S.

Which acid is used in lead storage batteries ?

(A) Hydrochloric acid (B)
(C) Nitric ac1d (D)
e Fameh O § i T TS T4 BT | 2
(A) TETSgEIN TS i (B)
(C) rsteeh Tfere 1 (D)
Bleaching powder is

(A) Calcium chloride (B)

(C) Calcium oxychloride (D)
AT TS B

(A) Hfesm FIRIEse (B)
(C) Hicwrm sAfefiritzs (D)

Acetic acid
Sulphuric acid

THifeeh Tire
FoR]h THE I

Calcium carbonate
Calcium hydroxide

iy HEHe
Hicyray FEgiTEs

Which is a good conductor of heat and electricity ?

(A) Anthracite (B) Diamond  (C)
FEAT 3R oA ST GaTeteh i

(A) TUWEEE  (B) W (©)
Bronze is a/an

(A) Element (B)

(C) Mixture (D)

<HiE B Th

(A) a (B)

(C) fazm (D)

Glass is best described as a/an

(A) Solid (B)

(C) Super cooled liquid (D)

I 53 aftfd

(A) TH3EHEIH (B)

(C) & Afd-SMfaaga s wad (D)

Which is a synthetic polymer ?

(A) Nylon (B) Glycogen (C)
EENER

(A) TEAH (B) wmEhsH  (O)

Which is not a true snake ?

(A) Blind snake (B) Rattle snake (C)

I G1 Teh Ateeh 94 8l 8 ?
(A) g Td (B) teat @y (C)

Charcoal (D) Graphite
I (D) U
Chemical compound

None of these

g Afien
3T | hig &

E5E

Liquid
Occlusion compound

Thgd h ®IH
Teh JTferemor ANfies & =9 1

Starch

wE

(D) Cotton

(D) =™

Sea snake

Hﬂ's?rwf

Code No

(D) Glass snake

(D) <hl MR
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76. Beri-beri is caused by the deficiency of which vitamin ?
(A) Vitamin A (B) VitaminC (C) Vitamin K (D) None of these
S -s T fopd forerfim <t oot @ gIaT 8 2
(A) fefimA B) fwefmc () feiffm K (D) 30 @ i 7=
77. Excess of water in body results in
(A) Anaemia (B) Scurvy (C) Xerosere (D) None of these
¥ ST oh1 STTURAT o TIHOTHEEY BT &
(A) T (B) el (C) SRR (D) 378 A IS &
78. Pain relieving drugs are known as
(A) Antibiotics (B) Aaesthetic
(C)_ Sulpha compound (D) None of these
forermeeh 2o =l e @
(A) T (B) wefew
(C) e AHfires (D) ¥ & % T
79. Pace-maker is related to
(A) Lungs (B) Kidney (C) Liver (D) None of these
U -Hept (- B
(A) BHSH (B) g=%H (C) THhad@ (D) TTH & 1S T
80. Iron is abundantly found in
(A) Green vegetables (B) Egg
(C) Milk (D) None of these
T S /7T § 971 STl &
(A) ghafeid (B) e d (C) gud (D) T & IS &
81. ‘Cyclone’ is related to ‘Anti Cyclone’ in the same way as ‘Flood’ is related to
(A) River (B) Devastation (C) Havoc (D) Drought
TSR’ T & “Tid-=shaTd’ €, 381 TE S8 T’ THI-2d 8
(A) TG B) @EH  (C) wWHE (D) g@IE
82. In the English alphabet ‘BDG’ is to ‘CFJ’ in the same way as ‘EGJ’ is to
S JuETen § ‘BDG’ | ‘CF)” 2 361 R ‘EG)° € @
(A) FIL (B) FIM (C) FIM (D) FIN
83. Choose the odd pair.
(A) Gold : Ornaments (B) Cloth : Garments
(C) Wood : Furniture (D) Earthen pots : Clay
forom 3 o6t =4 |
(A) Tl ; STy (B) HUST: T€
(C) THSI : Heffer (D) Tigt < = : g
TN T o A S o e
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84.

8S.

86.

87.

88.

89.

90.

How many letters are there between 8" letter from left and 7™ letter from
right in the English alphabet ?

ST FUHTAT § ST & 84T 378 3R R ¥ 797 31§ b off9 H fohad 31a E 2

(A) 7 B) 8 <O 9 (D) 11

If PALE is coded as 2134, EARTH i1s coded as 41590, then PEARL is coded
as

Ife PALE 1 %< 2134, EARTH b1 %2 41590 g a9 35 T& PEARL%‘I@%
(A) 29530 (B) 24153 (C) 25430 (D) 25413

Missing term in the number series is

T 4ot § o 9¢ &

1296, 648, 216, ?, 36, 18, 6, 3

(A) 108 (B) 120 (©) 132 (D) 148

The next term in the letter series will be F#E

378 it | 7T UG BT S

CEG, IKM, OQS, ?_

(A) VXZ (B) TVX (C) TUV (D) UWY

Javed’s brother’s sister’s father’s brother is Karim and Karim’s daughter is
Dolly. How is Javed related to Dolly ?

(A) Uncle (B) Sister (C) Cousin (D) Brother

ST o WTS 6l &1 o Ut =1 s w7 3R g 6 T eich 7 | g fod
TR Sietl & FFEi-ad | ?

(A) == (B) W& (C) = (D) g

After starting from a point, a man walks 4 km towards West, then turning to
his right he moves 4 km. After this, he again turns right and moves 4 km.
The correct direction in which he is from his starting point is
(A) North (B) East (C) South (D) West

T fog @ WO iteh, Teh 3ATGHT 4 fob. i, ufeem <l 3R =reran 2, T a8 3TuH1
‘q’l?ff?:ﬂ? 8 3R 4 fep. . dﬂdl%lsa%aﬁaggamwaﬂ?w4%ﬂ°{
TR | m%@@wﬁﬂﬁﬁmw% ?
(A) S (B) T (C) aferm (D) dfeem

If Republic day was celebrated in 1996 on Friday, on which day in 2000
Independence was celebrated ?
(A) Sunday (B) Monday (C) Tuesday (D) Wednesday

IfE 1996 | IERAR 1 T0Ta-4 fGad =R T 41, @1 2000 H Toa-=ar fead fohd

e = T B 2

(A) Taar (B) HMER (C) WIeEaR (D) YR

e e e s e
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91. Who has been recently conferred with the 29" Saraswati Samman Award ?

(A) Vikram Seth (B) Vasdev Mohi

(C) Padma Sachdev (D) Mahabaleshwar Sail
gt &1 | fehdeh! 29aT T THITH JLEhR SGH fohdll TRIT 8 2

(A) Tershm B3 = (B) dTEcd HIE I

(C) veHT T i (D) HEEeIYER e hi

92. Which Indian satellite has been recently launched from French Guiana ?

BT B 8 Thel AT § i |1 AR U gaifya T e 2
(A) RISAT2B (B) GSAT30 (C) GSAT7A (D) IRNSS IH

93. What is the name of the Biggest Airborne Exercise recently conducted by
the Indian army ?
(A) Him Vijay (B) Dhruv Sakthi
(C) Winged Raider (D) Yudh Abhiyas
YR 81 g 21 &1 § 970 g0 oy 818 famanfad 31wima s R am 8 2
(A) ferfesm B) gawfed  (C) faew=t (D) Ig ™

94. How many Indian astronauts have been selected recently for India’s first
human space mission ?

(A) Two (B) Three (C) Four (D) Five

BT € H INd & Ugcl AHa 31 fiem & foe feran i srafer-=it s
TG & ?

(A) @ (B) (C©) =’ (D) =

95. The entire government of which country resigned recently after the
constitutional amendments announced by its President ?
(A) China (B) France (C) Russia (D) Germany
2ot € 3 TE 3 g S R T e e % A R 2w 6 e
TR A @ ¢ fem ¢

(A) == (B) (C) =4 (D) S
96. Which state 1s going to observe 2020 as Susashan Sankalp Varsh ?

(A) U.P. (B) Gujarat

(C) Haryana (D) Madhya Pradesh

SHIF AT ST 2020 < FATEH Fehed TN o &9 § A ST &I 8 2
(A) SWYem  (B) TSI (C) wfwmm (D) =T JeH

97. The Ilisu Dam, which has been in the news recently, is in which country ?
(A) Pakistan (B) Bhutan (C) Turkey (D) Bangladesh

A A A g AN oy g o fpa gm € 2 .
(A) TR (B) eH (C) Tt (D) SFATCH
G T
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98.

99.

100.

101.

102.

103.

104.

10S.

Which company has recently launched First Audio Service ‘Suno’ of India ?

(A) Boss (B) Audible (C) Sony (D) Samsung
e el 3 T 61 ) T A T e € Y 2

(A) =™ (B) 3ifesa (C) | (D) E=En
Which country topped the Medal tally of 13™ South Asian Games-2019 ?
(A) China (B) Nepal (C) India (D) Japan

139 gféqur ufRres @er-2019 & M |1 S uge! hi arferent § 3 T W 2
(A) = (B) Ul (C) ¥ra (D) STIH
Who became the first Indian to play 150 Ranji matches ?

(A) Sairaj Bahutule (B) Amol Mazumdar

(C) Wasim Jaffer (D) Devendra Bundela

150 TOTSTt B Wt STl gell YRR hid 311 2
(A) TTTEASN  (B) 3T H9ER (C) FHH AR (D) &5 Tl
@5

Total geographical area of H.P. is =

TemTereT Y&t T et iTifeTeh &%het &
(A) 55673km? (B) 65673km2 (C) 75673 km2 (D) 85673 km2

The sex-ratio of H.P. as per Census 2011 is

2011 3l VAT o FTTER fErTare Jeu &1 fomum 2

(A) 916 (B) 946 (C) 972 (D) 982

The district Headquarters of district Kinnaur of H.P. is

(A) Kalpa (B) Kaza (C) Pooh (D) Rekong Peo
TeaTaret wem o fehiR ftet =1 Forem georer™ 8

(A) el (B) ST ©C) (D) Tepim fia

The largest artificial lake of H.P. is
(A) Renuka (B) Gobind Sagar (C) Pandoh (D) Chamera
Ry Higeu s sm i g

c

(A) TR (B) Mfs<dmR (C) UvEE (D) =EQ

Smallest wildlife sanctuary in H.P. is
(A) Shilli (B) Kugti (C) Shikari devi (D) Choordhar
.91, 7 9o BI I=ISd AWIRTT 3

(A) Rreeht (B) (C) Repricedt (D) TguR
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106. The river Ravi originates from which place in H.P. ?
(A) Bara Banghal (B) Baralacha Pass
(C) Rohtang Pass (D) None of these
fe.3. 1 Tt 7 1 I TIH HEl & 2
(A) SIETsEE  (B) SWerEned (C) Ugamed (D) $9H H g TE

107. Gasota fair is celebrated in which district of H.P. ?

(A) Bilaspur (B) Una (C) Hamirpur (D) Kinnaur

f&.3. % = | et o e S wHEE S g 2

(A) foeraqr  (B) & (C) BHRYE (D) foiR
108. Which district of H.P. has highest population density ?

(A) Hamlrpur (B) Kangra (C) Solan (D) Shimla

.. 9 %1 8 et o1 SHEE 9 998 31feh | 2
(A) THRI (B) HITST (C) HreH (D) fermem

109. Sach Pass connects Chamba with
(A) Pangi (B) Bharmour (C) Kangra (D) None of these
T U I h STiedT &
(A) Tt d (B) WHR A (C) SIS @ (D) T ¥ IS &

110. Who was the founder of Keonthal princely state of H.P. ?
(A) Giri Sen (B) Jaspal (C) Gobind Pal (D) Bir Sen
.3, T TeR3TUe TSET TSI 1 HEATIH i o7 ?
(A) ffees (B) SHUTA (C) Misguer (D) sRE=

111. The old name of ‘Sundernagar’ was
(A) Kirgram (B) Hindur (C) Dhameri (D) Baned
GO bl GUAT 4T3 &A1
(A) Fram (B) feg (C) =t (D) g

112. Himachal Pradesh Board of School Education was established in which year ?

form o feuTaret I TRt TSehH SIS <hl TATIHT I TS 2
(A) 1966 (B) 1969 (C) 1971 (D) 1983

113. River rafting was introduced in H.P. in which year ?

fewmaret sgw o faw Tfee w1 ey fope o gamm o 2

(A) 1980 (B) 1983 (C) 1986 (D) 1989
114. Total number of assembly constituencies in Lahaul-Spiti district of H.P. is
%A) One (B) Two (C) Three (D) Four
E@F{ feufa foret # et fepat faamaw fafea-€id 8 7
(A) ® @ (C) o (D) I
TN T Coea AR i A g e
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115.

116.

117.

118.

119.

120.

121.

122.

Who is the Transport Minister of H.P. ?

(A) Mahender Singh Thakur (B) Vipin Singh Parmar
(C) Govind Singh Thakur (D) Virender Kanwar
fewmare yew o ufEed 7 i & 2

(A) Ta fog 3a (B) faftm fog vm

(C) e g 3R (D) FwwR
When Gandhiji visited Shimla for the first time ? s

STt Tgel IR e e T ¥ 2

(A) 1921 (B) 1923 (C) 1925 (D) 1927
Who designated Shimla as the summer capital of British empire in India ?
(A) Lord Dalhousie (B) Sir John Lawrence

(C) Lord Curzon (D) Lord Rippon

TR H e =i fsrfesr T <t disyeprefia Totem forem smm o 2
(A) @EsaEst (B) WA (C) dAleshod (D) «re fum

Himachal Road Transport Corporation (HRTC) came into being in which
year ?

Tenraet Tee itega fvm (HRTC) fora o sifegea o amn 2

(A) 1974 (B) 1978 (C) 1982 (D) 1985
Sun Temple is located at which place in H.P. ?

(A) Manali (B) Bharmour (C) Mandi (D) Nirath
fe.u. o ot mfex form wom v febra 2 2

(A) HATA (B) WRHR (C) #HuEt (D) Ry
War Memorial is located at which place in H.P. ?

(A) Nahan (B) Dharamshala (C) Solan (D) Chamba
f&.91. o fohd TYM W IR AT fa 8 2

(A) A& (B) gummen  (C) Hied (D) ==
Prashar Lake is located in which district of H.P. ?

(A) Mandi ~(B) Kullu (C) Sirmour (D) Kangra
f.51. o forg foret o wmer sfieT fera 2 2

(A) T (B) %] (C) fawim (D) ST

Which is the largest Ginger producing district of H.P. ?
(A) Sirmour (B) Solan (C) Shimla (D) Mandi
f2.9. =1 98 <71 37T IqTeT i Il AT S A1 8 2

(A) TR (B) @M (C) femem (D) HuEl
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123. The total funds allocation for the first Five Year Plan in H.P. was nearly
(A) 2.57crore (B) 3.37crore (C) 4.84crore (D) 5.27 crore
&9, o yuw yeeia JeHT o fofw o sTmefed g=uiy o oft
(A) 25708 (B) 337HE  (C) 484Fe (D) 527 He

124. What is the share of H.P. in Nathpa Jhakri project ?
1T TRt RIS | fed=ret Iew1 1 319eH &
(A) 15% (B) 18% (C) 22% (D) 25%

125. The book ‘Buddhist Monastery in H.P.” is written by
(A) O.C.Handa (B) M.R. Thakur (C) R.K. Kaushal(D) G.D. Khosla
‘glgre Tl 37 f8.9.” 70 & q@h hH & 7
(A) 3. BWSl (B) WH.3R. 3K (C) 3TR.. Hivad (D) .. @ean

126. Where did Guru Gobind Singh write a major portion of Dasham Granth ?
(A) Baru Sahib (B) Paonta Sahib (C) Rewalsar (D) Manikaran
% Tifeig T8 = G 7721 1 Y@ 3791 hal (1@l o1 ?
(A) S dgs (B) dwerdgs  (C) Rames (D) HfoTeRT

127. The oldest school of Pahari painting is

(A) Kangra (B) Mandi (C) Basholi (D) None of these

gl Temehett o1 Te™ U et &

(A) ®TTeT (B) woet (C) =it (D) 8 %K T
128. Who was Amrita Shergil ?

(A) an eminent Indian painter (B) an eminent Historian

(C) an eminent classical dancer (D) None of these

JHYC IRATA i off 2

(A) T faBd YR Faar (B) T JiBa S

(C) Ueh WferfSa A& T (D) 8 O His &l

129. Deotsidth temple is located in which district of H.P. ?
(A) Bilaspur (B) Chamba (C) Kangra (D) None of these
femmaet wew % forw ot & cairefog wie feoa 2 2
(A) foem@gR  (B) = (C) =TSl (D) 37 & 1S 7

130. Bhunda ceremony is held after every
(A) 6 years (B) 12 years (C) 20 years (D) 25 years

UeT 34 T % TG HAT I & |
(A) B: 98 (B) WRgad (C) ey (D) u=he =y
T T .
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Directions (Q. 131 to 135) : Choose the most appropriate option out of four given
alternatives A, B, C and D to fill in the blank :

131. Ravi his head against the wall.

(A) forced (B) struck (C) sounded (D) injured
132. It is fourteen years since I him.

(A) saw (B) haveseen (C) did see (D) had seen
133. I will be a loss in this deal.

(A) to (B) on (C) at (D) for E:E
134. Why don’t you sit me ?

(A) close (B) beside (C) along (D) next
135. Reena is polite that everyone likes her.

(A) as (B) much (C) very (D) so

Directions (Q. 136 to 140) : Choose the correctly spelt word out of four given
alternatives A, B,Cand D :
136. (A) Passenger (B) Pasanger (C) Pasenger (D) Pesenger

137. (A) Drivar (B) Draivar (C) Driver (D) Dryver
138. (A) Tiket (B) Tikett (C) Tickat (D) Ticket

139. (A) Transport (B) Tranceport (C) Transpoart (D) Transpourt

140. (A) Othority (B) Othourity  (C) Authority (D) Authorty
Directions (Q. 141 to 145) : Choose the word which is opposite in meaning to the
given word out of four alternatives A, B, C and D.

141. Manage

(A) Direct (B) Avail (C) Bungle (D) Wild
142. Shame
(A) Glorify (B) Exalt (C) Dignify (D) Enshrine
143. Harmony
(A) Hatred (B) Friction (C) Discord (D) Enmity
144. Arrogant
(A) Proud (B) Meek (C) Insolent (D) Rude
145. Luxury
(A) Sadness (B) Treachery (C) Duplicity (D) Austerity
e e e e e
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Directions (Q. 146 to 150) : Choose the most appropriate option out of four
alternatives A, B, C and D which best expresses the meaning of given

1idiom/phrase.

146. To be in abeyance
(A) To be in trouble

(C) In a fighting mood

147. To read between the lines
(A) To concentrate
(C) To suspect

148. To make a shot
(A) To retaliate
(C) To make a guess

149. Harp on
(A) To comment
(C) To keep on talking

150. To lose face
(A) To look angry
(C) To be helpless

e (. 151 9 155) 315 visg gfe
151. (A) T&a (B) @

152. (A) faum (B) famw

153. (A) 3@ (B) S

154. (A) I (B) I=f

155. (A) TSHfas (B) Ui
e (3. 156 & 160) @&t Tfer-faeag g

156. 9dq

(A) U+ad (B) Il +3M
157. 3@

(A) 3q+FM  (B) 3d+9m
158. HARY

(A) TR+ (B) WAL+

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

©)
©)
©
(©)
©

©)

©)

©)

Dual minded
In suspense

To read carefully

To grasp the hidden meaning

To hit someone
To achieve one’s objective

To criticise

To keep on insulating

To be humiliated
To look vacant

fetea
oy

A9 +

(D)
(D)
(D)
(D)
(D)

(D)

(D)

(D)

o N T e gy

3‘c§+?ﬁ1T

A1+
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159.

160.

161.

162.

163.

164.

16S.

166.

167.

168.

169.

170.

A=Y

(A) 3F+980  (B) 37+ A9
qhiereh

(A) it + (B) i+ &
SE SIS

(A) = (B) foreeft
e}’ w1 Ehfe 2

(A) T (B) @It
R I TgIH @

(A) T (B) <pradn
‘TEI’ H qHE &

(A) e (B) dcqey
ST hl HTeaT=eh 931 8

(A) T (B) ot
A <1 ferermor 2

(A) ST (B) d<H
‘3rfaferd’ o 3gEt @

(A) 3Afa (B) T
‘3N T YITFATE B

(A) <& (B) A
‘1o <1 el 3

(A) 3FAH (B) &

(C) 3+

(C) it +38mh

(C) =atfirm

(C) i
(C) Hrd

(C) =3

(C) &M

(C) dret

(C)

(©) #e

(C) 3red

“Sgd IG1 TG1 L HE g8 oA b (T Teh IUYeHI 155 B

(A) 3T

(B) 3

(C) fE=ri

(D) 3T +THT
(D) 9l + &k
(D) 370 & IS Tl

(D) =edt

(D) T & HIE &
(D) wEsife

(D) ¥TH & H1S T
(D) ¥ & %S T
(D) T & IS TE
(D) g %%E
(D) m&m

(D) fersrfad
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